

Los Angeles County Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Hacienda Channel - La Plata Avenue Drain

Project ID: FCC0001332

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

		Engine	eer's Estimate	(1) Mladen Buntich Construction Company, Inc.				C.		. ,			
(1) Pre	liminary Bid Amount					\$	\$2,292,502.00		\$2,535,000.00	\$	2,845,968.00	\$	\$2,975,860.00
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,000)	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	6	\$500.00	MTH	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$5,324.00	\$5,324.00	\$15,000.00	\$15,000.00
5	IMPLEMENTATION OF BMPS	1	\$10,000.00	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$28,000.00	\$28,000.00	\$19,111.00	\$19,111.00	\$15,000.00	\$15,000.00
6	RESTORATION OF EXISTING IMPROVEMENTS	1	\$14,400.00	LS	\$14,400.00	\$30,000.00	\$30,000.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00
7	SHORING OF OPEN EXCAVATIONS	1	\$278,560.00	LS	\$278,560.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$66,011.00	\$66,011.00	\$100,000.00	\$100,000.00
8	OFFICE FACILITIES	7	\$5,000.00	MTH	\$35,000.00	\$4,500.00	\$31,500.00	\$1,600.00	\$11,200.00	\$3,483.00	\$24,381.00	\$7,500.00	\$52,500.00
9	MOBILIZATION	1	\$250,000.00	LS	\$250,000.00	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00	\$35,299.00	\$35,299.00	\$125,000.00	\$125,000.00
10	TRENCH BACKFILL SLURRY (CLASS 100-E-100)	1541	\$200.00	CY	\$308,200.00	\$150.00	\$231,150.00	\$220.00	\$339,020.00	\$133.00	\$204,953.00	\$135.00	\$208,035.00
11	CATCH BASIN PER STD PLAN 300, W=7	1	\$11,400.00	EA	\$11,400.00	\$9,000.00	\$9,000.00	\$9,900.00	\$9,900.00	\$18,936.00	\$18,936.00	\$7,500.00	\$7,500.00
12	CATCH BASIN PER STD PLAN 300, W=10	1	\$12,200.00	EA	\$12,200.00	\$10,000.00	\$10,000.00	\$11,500.00	\$11,500.00	\$27,873.00	\$27,873.00	\$7,800.00	\$7,800.00
13	TRANSITION STRUCTURE PER STD PLAN 340 (MOD)	2	\$8,500.00	EA	\$17,000.00	\$9,000.00	\$18,000.00	\$3,800.00	\$7,600.00	\$27,202.00	\$54,404.00	\$7,500.00	\$15,000.00

Project ID: FCC0001332

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

				Engine	eer's Estimate		Iladen Buntich Company, Inc.	(2) Los Angele	s Engineering, Inc.	Inc.		(4) Colic	n & Sons L.P.
(1) Pre	eliminary Bid Amount						\$2,292,502.00		\$2,535,000.00	,	\$2,845,968.00	\$	2,975,860.00
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
14	JUNCTION STRUCTURE PER	8	\$5,500.00	EA	\$44,000.00	\$6,000.00	\$48,000.00	\$2,700.00	\$21,600.00	\$22,216.00	\$177,728.00	\$4,000.00	\$32,000.00
	DETAIL E												
15	JUNCTION STRUCTURE PER	4	\$5,500.00	EA	\$22,000.00	\$6,000.00	\$24,000.00	\$2,700.00	\$10,800.00	\$14,107.00	\$56,428.00	\$4,000.00	\$16,000.00
	DETAIL F												
16	MANHOLE PER STD PLAN	1	\$8,000.00	EA	\$8,000.00	\$9,000.00	\$9,000.00	\$9,500.00	\$9,500.00	\$11,009.00	\$11,009.00	\$6,800.00	\$6,800.00
	320 (MOD)												
17	MANHOLE PER STD PLAN	4	\$8,000.00	EA	\$32,000.00	\$10,000.00	\$40,000.00	\$9,000.00	\$36,000.00	\$10,000.00	\$40,000.00	\$7,500.00	\$30,000.00
	321 (MOD)												
18	MANHOLE PER STD PLAN	8	\$9,000.00	EA	\$72,000.00	\$11,000.00	\$88,000.00	\$10,000.00	\$80,000.00	\$9,972.00	\$79,776.00	\$8,200.00	\$65,600.00
	322 (MOD)												
19	18" DUAL WALL	22	\$410.00	LF	\$9,020.00	\$700.00	\$15,400.00	\$500.00	\$11,000.00	\$833.00	\$18,326.00	\$350.00	\$7,700.00
	POLYPROPYLENE PIPE		****		20.100.00						200.000.00		010 700 00
20	24" DUAL WALL	28	\$300.00	LF	\$8,400.00	\$600.00	\$16,800.00	\$350.00	\$9,800.00	\$745.00	\$20,860.00	\$375.00	\$10,500.00
- 0.4	POLYPROPYLENE PIPE	0075	0040.00		# 7 05 500 00	#00F 00	Ø5 40 075 00	#04F 00	# 500.075.00	# 440.00	0047.450.00	#450.00	#000 750 00
21	30" DUAL WALL	2075	\$340.00	LF	\$705,500.00	\$265.00	\$549,875.00	\$245.00	\$508,375.00	\$442.00	\$917,150.00	\$450.00	\$933,750.00
- 00	POLYPROPYLENE PIPE	000	\$450.00		\$271,350.00	\$275.00	\$165,825.00	\$350.00	\$211,050.00	\$421.00	\$253,863.00	\$525.00	\$316,575.00
22	36" DUAL WALL	603	\$450.00	LF	\$271,350.00	\$275.00	\$105,625.00	\$350.00	\$211,050.00	\$421.00	\$253,003.00	\$525.00	\$316,575.00
23	POLYPROPYLENE PIPE 48" DUAL WALL	804	\$480.00	LF	\$385,920.00	\$438.00	\$352,152.00	\$600.00	\$482,400.00	\$447.00	\$359,388.00	\$550.00	\$442,200.00
23	POLYPROPYLENE PIPE	004	φ460.00	LF	\$383,920.00	φ436.00	φ332, 132.00	φουσ.υσ	\$402,400.00	φ447.00	φ339,366.00	φ550.00	φ442,200.00
24	SUPPORT FOR 15" OR LESS	4	\$1,500.00	EA	\$6,000.00	\$3,000.00	\$12,000.00	\$800.00	\$3,200.00	\$1,822.00	\$7,288.00	\$1,500.00	\$6,000.00
24	WATERLINE	4	ψ1,000.00	LA	ψο,σσσ.σσ	ψ0,000.00	Ψ12,000.00	Ψ000.00	ψ0,200.00	Ψ1,022.00	Ψ1,200.00	Ψ1,000.00	ψο,σσσ.σσ
25	SUPPORT FOR 8" OR LESS	7	\$1,000.00	EA	\$7,000.00	\$3,000.00	\$21,000.00	\$400.00	\$2,800.00	\$1,765.00	\$12,355.00	\$1,200.00	\$8,400.00
20	WATERLINE	•	+ 1,00000		**,******	*-,	7 =1,555	*******	+- ,	7 1,1 3 3 1 3 1	4 12,000110	, , ,	4 2, 2 2 2 2 2
26	SUPPORT FOR 8" AND LESS	2	\$1,000.00	EA	\$2,000.00	\$3,000.00	\$6,000.00	\$900.00	\$1,800.00	\$3,510.00	\$7,020.00	\$1,500.00	\$3,000.00
	SEWER	_											
27	REMODEL SEWER HOUSE	57	\$360.00	LF	\$20,520.00	\$400.00	\$22,800.00	\$275.00	\$15,675.00	\$610.00	\$34,770.00	\$1,500.00	\$85,500.00
	CONNECTION												
28	PCC BLANKET PROTECTION	15	\$1,000.00	CY	\$15,000.00	\$500.00	\$7,500.00	\$1,000.00	\$15,000.00	\$381.00	\$5,715.00	\$200.00	\$3,000.00
	FOR SEWER												
29	18" CONCRETE COLLAR	15	\$1,600.00	EA	\$24,000.00	\$2,000.00	\$30,000.00	\$1,100.00	\$16,500.00	\$2,500.00	\$37,500.00	\$2,000.00	\$30,000.00
30	24" CONCRETE COLLAR	2	\$2,000.00	EA	\$4,000.00	\$3,500.00	\$7,000.00	\$1,300.00	\$2,600.00	\$3,250.00	\$6,500.00	\$3,500.00	\$7,000.00
31	30" CONCRETE COLLAR	3	\$2,300.00	EA	\$6,900.00	\$3,500.00	\$10,500.00	\$1,400.00	\$4,200.00	\$7,000.00	\$21,000.00	\$3,500.00	\$10,500.00

Project ID: FCC0001332

Bids Opened: 5/11/2021

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

				Engin	eer's Estimate	(1) Mladen Buntich Construction Company, Inc.		(2) Los Angeles Engineering, Inc.		(3) Cedro Construction, Inc.		(4) Colich & Sons L.I	
(1) Pre	eliminary Bid Amount					\$2,292,502.00				\$2,845,968.00		\$2,975,860.00	
(2) Un	(2) Unit Price Detail												
<u>Item</u>	<u>Item Description</u> <u>Qty Unit</u>		Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
32	RESTORATION OF	1	\$195,315.00	LS	\$195,315.00	\$200,000.00	\$200,000.00	\$180,000.00	\$180,000.00	\$95,000.00	\$95,000.00	\$175,000.00	\$175,000.00
	PERMANENT SURFACING												
33	ABANDON EXISTING	3	\$2,000.00	EA	\$6,000.00	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$4,000.00	\$12,000.00	\$1,500.00	\$4,500.00
	MANHOLE												
34	TRAFFIC CONTROL	1	\$110,000.00	LS	\$110,000.00	\$30,000.00	\$30,000.00	\$25,480.00	\$25,480.00	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00
35	GROUNDWATER	150000	\$1.00	AL	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
	DEWATERING (ALLOWANCE												
	OF \$150,000)												
Unit P	rice Total			\$3,057,685.00		\$2,292,502.00		\$2,535,000.00		\$2,845,968.00		\$2,975,860.0	
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00	
(4) LS	(4) LSBE/DVBE/SE Adjusted Amount						\$2,292,502.00		\$2,535,000.00		\$2,845,968.00		\$2,975,860.00
Comm	Comments					APPARENT	LOW BIDDER			NON	RESPONSIVE	NON	RESPONSIVE



Los Angeles County Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Hacienda Channel - La Plata Avenue Drain

Project ID: FCC0001332 Bids Opened: 5/11/2021

Office Engineer: Mohsen Azouz 626-458-3199

			Engineer's Estimate		(5) Clark	(5) Clarke Contracting Corporation		(6) Christensen Brothers General Engineering, Inc.		nstructors, Inc.	,		
(1) Pre	eliminary Bid Amount					\$	\$2,990,515.00	\$	3,307,020.00	;	\$3,380,700.00	\$:	3,394,000.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,000)	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/ MONTH)	6	\$500.00	MTH	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$55,000.00	\$55,000.00	\$2,500.00	\$2,500.00
5	IMPLEMENTATION OF BMPS	1	\$10,000.00	LS	\$10,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$75,000.00	\$75,000.00
6	RESTORATION OF EXISTING IMPROVEMENTS	1	\$14,400.00	LS	\$14,400.00	\$15,000.00	\$15,000.00	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00	\$92,000.00	\$92,000.00
7	SHORING OF OPEN EXCAVATIONS	1	\$278,560.00	LS	\$278,560.00	\$150,000.00	\$150,000.00	\$120,000.00	\$120,000.00	\$1,000,000.00	\$1,000,000.00	\$97,000.00	\$97,000.00
8	OFFICE FACILITIES	7	\$5,000.00	MTH	\$35,000.00	\$2,500.00	\$17,500.00	\$7,200.00	\$50,400.00	\$5,500.00	\$38,500.00	\$4,100.00	\$28,700.00
9	MOBILIZATION	1	\$250,000.00	LS	\$250,000.00	\$130,000.00	\$130,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$90,000.00	\$90,000.00
10	TRENCH BACKFILL SLURRY (CLASS 100-E-100)	1541	\$200.00	CY	\$308,200.00	\$200.00	\$308,200.00	\$140.00	\$215,740.00	\$200.00	\$308,200.00	\$175.00	\$269,675.00
11	CATCH BASIN PER STD PLAN 300, W=7	1	\$11,400.00	EA	\$11,400.00	\$20,000.00	\$20,000.00	\$11,400.00	\$11,400.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00

Project ID: FCC0001332

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

(4) Darlinsin on Did America		Engine	er's Estimate	,	e Contracting Corporation	n General Engineering, Inc.		(7) Bosco Cons	structors, Inc.	(8) Te	ichert Utilities		
(1) Pre	eliminary Bid Amount					\$	\$2,990,515.00	\$	3,307,020.00	\$	3,380,700.00	\$	3,394,000.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
12	CATCH BASIN PER STD PLAN 300, W=10	1	\$12,200.00	EA	\$12,200.00	\$24,000.00	\$24,000.00	\$12,000.00	\$12,000.00	\$13,000.00	\$13,000.00	\$14,500.00	\$14,500.00
13	TRANSITION STRUCTURE PER STD PLAN 340 (MOD)	2	\$8,500.00	EA	\$17,000.00	\$6,000.00	\$12,000.00	\$6,700.00	\$13,400.00	\$5,500.00	\$11,000.00	\$6,000.00	\$12,000.00
14	JUNCTION STRUCTURE PER DETAIL E	8	\$5,500.00	EA	\$44,000.00	\$3,000.00	\$24,000.00	\$11,400.00	\$91,200.00	\$7,500.00	\$60,000.00	\$14,500.00	\$116,000.00
15	JUNCTION STRUCTURE PER DETAIL F	4	\$5,500.00	EA	\$22,000.00	\$3,000.00	\$12,000.00	\$11,400.00	\$45,600.00	\$5,000.00	\$20,000.00	\$14,500.00	\$58,000.00
16	MANHOLE PER STD PLAN 320 (MOD)	1	\$8,000.00	EA	\$8,000.00	\$19,000.00	\$19,000.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00
17	MANHOLÉ PER STD PLAN 321 (MOD)	4	\$8,000.00	EA	\$32,000.00	\$21,000.00	\$84,000.00	\$13,000.00	\$52,000.00	\$7,000.00	\$28,000.00	\$6,800.00	\$27,200.00
18	MANHOLÉ PER STD PLAN 322 (MOD)	8	\$9,000.00	EA	\$72,000.00	\$21,000.00	\$168,000.00	\$14,000.00	\$112,000.00	\$5,050.00	\$40,400.00	\$6,800.00	\$54,400.00
19	18" DUAL WALL POLYPROPYLENE PIPE	22	\$410.00	LF	\$9,020.00	\$1,200.00	\$26,400.00	\$350.00	\$7,700.00	\$130.00	\$2,860.00	\$1,250.00	\$27,500.00
20	24" DUAL WALL POLYPROPYLENE PIPE	28	\$300.00	LF	\$8,400.00	\$1,400.00	\$39,200.00	\$380.00	\$10,640.00	\$150.00	\$4,200.00	\$1,350.00	\$37,800.00
21	30" DUAL WALL POLYPROPYLENE PIPE	2075	\$340.00	LF	\$705,500.00	\$325.00	\$674,375.00	\$420.00	\$871,500.00	\$170.00	\$352,750.00	\$425.00	\$881,875.00
22	36" DUAL WALL POLYPROPYLENE PIPE	603	\$450.00	LF	\$271,350.00	\$350.00	\$211,050.00	\$480.00	\$289,440.00	\$180.00	\$108,540.00	\$485.00	\$292,455.00
23	48" DUAL WALL POLYPROPYLENE PIPE	804	\$480.00	LF	\$385,920.00	\$435.00	\$349,740.00	\$520.00	\$418,080.00	\$200.00	\$160,800.00	\$550.00	\$442,200.00
24	SUPPORT FOR 15" OR LESS WATERLINE	4	\$1,500.00	EA	\$6,000.00	\$4,000.00	\$16,000.00	\$7,000.00	\$28,000.00	\$1,500.00	\$6,000.00	\$16,500.00	\$66,000.00
25	SUPPORT FOR 8" OR LESS WATERLINE	7	\$1,000.00	EA	\$7,000.00	\$4,000.00	\$28,000.00	\$5,000.00	\$35,000.00	\$1,000.00	\$7,000.00	\$15,500.00	\$108,500.00
26	SUPPORT FOR 8" AND LESS SEWER	2	\$1,000.00	EA	\$2,000.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$750.00	\$1,500.00	\$15,500.00	\$31,000.00
27	REMODEL SEWER HOUSE CONNECTION	57	\$360.00	LF	\$20,520.00	\$150.00	\$8,550.00	\$500.00	\$28,500.00	\$50.00	\$2,850.00	\$285.00	\$16,245.00
28	PCC BLANKET PROTECTION FOR SEWER	15	\$1,000.00	CY	\$15,000.00	\$1,700.00	\$25,500.00	\$200.00	\$3,000.00	\$2,000.00	\$30,000.00	\$1,800.00	\$27,000.00

Project ID: FCC0001332

Rids Opened: 5/11/2021

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

Addenda: 2 Duration: 140 Day(s)

	40 B. H. J. B.I. A.			Engineer's Estimate		(5) Clarke Contracting Corporation		(6) Christensen Brothers General Engineering, Inc.		,		(8) Teichert Utilitie	
(1) Pre	eliminary Bid Amount					;	\$2,990,515.00		3,307,020.00	\$3,380,700.00		\$3,394,000.00	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
29	18" CONCRETE COLLAR	15	\$1,600.00	EA	\$24,000.00	\$2,000.00	\$30,000.00	\$2,000.00	\$30,000.00	\$650.00	\$9,750.00	\$2,500.00	\$37,500.00
30	24" CONCRETE COLLAR	2	\$2,000.00	EA	\$4,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$850.00	\$1,700.00	\$2,600.00	\$5,200.00
31	30" CONCRETE COLLAR	3	\$2,300.00	EA	\$6,900.00	\$3,000.00	\$9,000.00	\$3,000.00	\$9,000.00	\$1,050.00	\$3,150.00	\$2,800.00	\$8,400.00
32	RESTORATION OF PERMANENT SURFACING	1	\$195,315.00	LS	\$195,315.00	\$300,000.00	\$300,000.00	\$214,420.00	\$214,420.00	\$150,000.00	\$150,000.00	\$203,350.00	\$203,350.00
33	ABANDON EXISTING MANHOLE	3	\$2,000.00	EA	\$6,000.00	\$15,000.00	\$45,000.00	\$10,000.00	\$30,000.00	\$1,500.00	\$4,500.00	\$6,500.00	\$19,500.00
34	TRAFFIC CONTROL	1	\$110,000.00	LS	\$110,000.00	\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00	\$80,000.00	\$80,000.00
35	GROUNDWATER DEWATERING (ALLOWANCE OF \$150,000)	150000	\$1.00	AL	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
Unit P	rice Total			;	\$3,057,685.00	;	\$2,990,515.00	9	\$3,307,020.00	9	\$3,380,700.00		\$3,394,000.00
(3) LS	(3) LSBE/DVBE/SE Preference Amount						\$150,000.00		\$0.00		\$150,000.00		\$0.00
(4) LS	4) LSBE/DVBE/SE Adjusted Amount						\$2,840,515.00		\$3,307,020.00		\$3,230,700.00		\$3,394,000.00
Comm	Comments												

-6-



Los Angeles County Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Hacienda Channel - La Plata Avenue Drain

Project ID: FCC0001332 Bids Opened: 5/11/2021

Office Engineer: Mohsen Azouz 626-458-3199

		Engin	eer's Estimate	(9) AID BUILDERS INC		NC (10) Vasilj, Inc.							
(1) Pre	liminary Bid Amount					\$	3,715,040.00	9	\$3,812,575.00				
. ,	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,000)	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00				
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	6	\$500.00		\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00				
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$42,000.00	\$42,000.00	\$3,000.00	\$3,000.00				
5	IMPLEMENTATION OF BMPS	1	\$10,000.00	LS	\$10,000.00	\$89,000.00	\$89,000.00	\$2,250.00	\$2,250.00				
6	RESTORATION OF EXISTING IMPROVEMENTS	1	\$14,400.00	LS	\$14,400.00	\$498,000.00	\$498,000.00	\$20,000.00	\$20,000.00				
7	SHORING OF OPEN EXCAVATIONS	1	\$278,560.00	LS	\$278,560.00	\$120,000.00	\$120,000.00	\$250,000.00	\$250,000.00				
8	OFFICE FACILITIES	7	\$5,000.00	MTH	\$35,000.00	\$15,000.00	\$105,000.00	\$2,800.00	\$19,600.00				
9	MOBILIZATION	1	\$250,000.00	LS	\$250,000.00	\$85,000.00	\$85,000.00	\$100,000.00	\$100,000.00				
10	TRENCH BACKFILL SLURRY (CLASS 100-E-100)	1541	\$200.00	CY	\$308,200.00	\$215.00	\$331,315.00	\$200.00	\$308,200.00				
11	CATCH BASIN PER STD PLAN 300, W=7	1	\$11,400.00	EA	\$11,400.00	\$19,500.00	\$19,500.00	\$10,000.00	\$10,000.00				
12	CATCH BASIN PER STD PLAN 300, W=10	1	\$12,200.00	EA	\$12,200.00	\$21,500.00	\$21,500.00	\$15,000.00	\$15,000.00				

Project ID: FCC0001332

Bids Opened: 5/11/2021

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

				Engine	er's Estimate	(9) AID BU	JILDERS INC	(10) Vasilj, Inc.				
(1) Pre	eliminary Bid Amount					\$	3,715,040.00	Ç	\$3,812,575.00				
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
13	TRANSITION STRUCTURE PER STD PLAN 340 (MOD)	2	\$8,500.00	EA	\$17,000.00	\$17,500.00	\$35,000.00	\$8,000.00	\$16,000.00				
14	JUNCTION STRUCTURE PER DETAIL E	8	\$5,500.00	EA	\$44,000.00	\$11,500.00	\$92,000.00	\$2,000.00	\$16,000.00				
15	JUNCTION STRUCTURE PER DETAIL F	4	\$5,500.00	EA	\$22,000.00	\$11,500.00	\$46,000.00	\$2,000.00	\$8,000.00				
16	MANHOLE PER STD PLAN 320 (MOD)	1	\$8,000.00	EA	\$8,000.00	\$21,500.00	\$21,500.00	\$10,000.00	\$10,000.00				
17	MANHOLE PER STD PLAN 321 (MOD)	4	\$8,000.00	EA	\$32,000.00	\$22,500.00	\$90,000.00	\$10,500.00	\$42,000.00				
18	MANHOLE PER STD PLAN 322 (MOD)	8	\$9,000.00	EA	\$72,000.00	\$21,500.00	\$172,000.00	\$11,000.00	\$88,000.00				
19	18" DÚAL WALL POLYPROPYLENE PIPE	22	\$410.00	LF	\$9,020.00	\$500.00	\$11,000.00	\$300.00	\$6,600.00				
20	24" DUAL WALL POLYPROPYLENE PIPE	28	\$300.00	LF	\$8,400.00	\$500.00	\$14,000.00	\$400.00	\$11,200.00				
21	30" DUAL WALL POLYPROPYLENE PIPE	2075	\$340.00	LF	\$705,500.00	\$275.00	\$570,625.00	\$585.00	\$1,213,875.00				
22	36" DUAL WALL POLYPROPYLENE PIPE	603	\$450.00	LF	\$271,350.00	\$350.00	\$211,050.00	\$800.00	\$482,400.00				
23	48" DUAL WALL POLYPROPYLENE PIPE	804	\$480.00	LF	\$385,920.00	\$450.00	\$361,800.00	\$900.00	\$723,600.00				
24	SUPPORT FOR 15" OR LESS WATERLINE	4	\$1,500.00	EA	\$6,000.00	\$6,500.00	\$26,000.00	\$2,000.00	\$8,000.00				
25	SUPPORT FOR 8" OR LESS WATERLINE	7	\$1,000.00	EA	\$7,000.00	\$7,500.00	\$52,500.00	\$1,000.00	\$7,000.00				
26	SUPPORT FOR 8" AND LESS SEWER	2	\$1,000.00	EA	\$2,000.00	\$7,500.00	\$15,000.00	\$1,000.00	\$2,000.00				
27	REMODEL SEWER HOUSE CONNECTION	57	\$360.00	LF	\$20,520.00	\$1,000.00	\$57,000.00	\$300.00	\$17,100.00				
28	PCC BLANKET PROTECTION FOR SEWER	15	\$1,000.00	CY	\$15,000.00	\$2,500.00	\$37,500.00	\$250.00	\$3,750.00				
29	18" CONCRETE COLLAR	15	\$1,600.00	EA	\$24,000.00	\$2,750.00	\$41,250.00	\$1,500.00	\$22,500.00				
30	24" CONCRETE COLLAR	2	\$2,000.00	EA	\$4,000.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00				
31	30" CONCRETE COLLAR	3	\$2,300.00	EA	\$6,900.00	\$3,500.00	\$10,500.00	\$3,000.00	\$9,000.00			-	

Project ID: FCC0001332

Rids Opened: 5/11/2021

Bids Opened: 5/11/2021 Office Engineer: Mohsen Azouz 626-458-3199

		Engineer's Estimate		(9) AID BUILDERS INC		C (10) Vasilj, Inc.							
(1) Pre	liminary Bid Amount						\$3,715,040.00	\$3,812,575.00					
(2) Unit Price Detail													
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
32	RESTORATION OF	1	\$195,315.00	LS	\$195,315.00	\$265,000.00	\$265,000.00	\$200,000.00	\$200,000.00				
	PERMANENT SURFACING												
33	ABANDON EXISTING	3	\$2,000.00	EA	\$6,000.00	\$9,000.00	\$27,000.00	\$2,500.00	\$7,500.00				
	MANHOLE												
34	TRAFFIC CONTROL	1	\$110,000.00	LS	\$110,000.00	\$85,000.00	\$85,000.00	\$30,000.00	\$30,000.00				
35	GROUNDWATER	150000	\$1.00	AL	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00				
	DEWATERING (ALLOWANCE												
	OF \$150,000)												
Unit P	rice Total			:	\$3,057,685.00		\$3,715,040.00		\$3,812,575.00				
(3) LS	BE/DVBE/SE Preference Amount						\$0.00		\$0.00				
(4) LS	(4) LSBE/DVBE/SE Adjusted Amount						\$3,715,040.00		\$3,812,575.00				
Comm	Comments							NON	RESPONSIVE				